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BapuanT 1

1. Boruuciure:
a) logs0,2+ log, s4
6) 6log, V7
2. TlocrpoiiTe rpaduk HyHKIUM:
a)y = log, x + 2;
z
6) y = log, x*.

3. Pemnte ypaBHeHUe:
a) logs(4-+x) = 2

6) logs(7—x) = logs(3—x) + 1

4. Pemnre HepaBeHCTBO log; x < 11 — x.

5. Pemure ypasnenue 100~ — 8x'%* = 20.
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Bapuant 2
1. Beraucaure:
a) logs60 —logs12
6) 42log,V2
2. ITocTpoiite rpaduk GYHKIUH
a) y = log,(x - 3

6) y=1lgx*
3. Pemnre ypaBHeHue:
a) logy(4—x) =7
6) loga(2—x) =logy(2—3x) +1

4. Peunte HepaBeHCTBO logl x>x-6.
5

. :
5. Pemnte ypaBHeHue x°%* — 36
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